7000 GeV pp W+Jet

% _l I ! ' ' ' | ' I ' T T T T T T |_ g
3 . .
o 10" E Filtered jet mass (anti-k_(0.7), 150<p_<220, |y|<2.5) 52
~ — T T - O
=, ~ o=
~ i o
E| 10% E- —=N
+ = 42
T 10 = e
ETE =k
S, ~ = [0
8 1 _
N = =
o - =
3 10 L
S 107 =5
— — w0
- ®m CMS 3 §
1072 = —a— Pythia 8.308 default __E
= ---¥-- Pythia 8.308 tune-AU2 Sl
- --<-- Pythia 8.308 tune-AU2lox o
103 & --8-- Pythia 8.308 tune-AU2loxx <
= —— Pythia 8.308 tune-AU2m 58
- v
- mls
10 5 g
2 & —2
) B =
2 B —
@) L _
S 1 1
o i
© - _
0.5 e 0.5
: ] l
0 100

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


